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[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*¡ú

1. ëKïo ëKàË¡ã¹ l¡üƒàÒ¹o Òº

(A) š[¹¤à¹

(B) šø[t¡ì¤Åã

(C) A¡³¢W¡à¹ã Î}Kk¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

2. Dis trict Pri mary Ed u ca tion

Programme (DPEP)-&¹ ÎèW¡>à ÒìÚ[áº

(A) 1990 Îàìº

(B) 1994 Îàìº

(C) 1998 Îàìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

3. [¤ƒ¸àºÚ [ÅÛ¡àÚ [>¹¤[ZáÄ * Î¤¢à=¢Îà‹A¡ ³èº¸àÚ> 
¤¸¤Ñ‚à W¡àºå A¡ì¹[áº

(A) CBSE

(B) SCERT

(C) NCTE

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

4. ®¡àº [ÅÛ¡àƒà> (šàk¡>) [>®¢¡¹ A¡ì¹

(A) [ÅÛ¡ìA¡¹ l¡üš¹

(B) áàyáàyã¹ Î[yû¡Ú "àNøìÒ¹ l¡üš¹

(C) Î[yû¡Ú [ÅÛ¡àƒà> š‡ý¡[t¡¹ l¡üš¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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Direction : Answer the following questions

by selecting the correct option.

1. Example of secondary group is

(A) family

(B) neighbourhood

(C) association of worker

(D) None of the above

2. District Primary Education

Programme (DPEP) was started in

the year

(A) 1990

(B) 1994

(C) 1998

(D) None of the above

3. Continuous and comprehensive

evaluation in school education was

started by

(A) CBSE

(B) SCERT

(C) NCTE

(D) None of the above

4. Good teaching depends on

(A) the teachers

(B) active interest of students

(C) active teaching methods

(D) None of the above



5. "ìš¹à–i¡ ">å¤t¢¡ì>¹ "š¹ >à³ Òº

(A) šøàW¡ã> ">å¤t¢¡>

(B) ™à[”|A¡ ">å¤t¢¡>

(C) Å[v¡û¡ƒàÚA¡ ">å¤t¢¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

6. \àt¡ãÚ >à¹ã[ÅÛ¡à A¡[³[i¡ K[k¡t¡ ÒìÚ[áº

(A) 1958 Îàìº

(B) 1959 Îàìº

(C) 1970 Îàìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

7. šø=³ ®¡à¹t¡ãÚ [ÅÛ¡à A¡[³Åì>¹ Î®¡àš[t¡ ëA¡
[áìº>?

(A) ºl¢¡ [¹š>

(B) Î¸àl¡ºà¹

(C) l¡à¤ô[ºl¡ü. l¡à¤ô[ºl¡ü. Òà–i¡à¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

8. [ÅÛ¡à¹ "[‹A¡à¹ "àÒü> ®¡à¹t¡¤ìÈ¢ ¤àÑz¤à[Út¡
ÒìÚ[áº

(A) 1ºà &[šøº, 2009 Îàìº

(B) 1ºà &[šøº, 2008 Îàìº

(C) 1ºà &[šøº, 2010 Îàìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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5. The other name of operant

conditioning is

(A) classical conditioning

(B) instrumental conditioning

(C) reinforcement conditioning

(D) None of the above

6. National Committee on Women

Education was set up in the year

(A) 1958

(B) 1959

(C) 1970

(D) None of the above

7. Who was the Chairman of First

Indian Education Commission?

(A) Lord Ripon

(B) Sadler

(C) W. W. Hunter

(D) None of them

8. Right to Education Act was

implemented in India with effect

from

(A) 1st April, 2009

(B) 1st April, 2008

(C) 1st April, 2010

(D) None of the above



9. ÒüÎºà[³A¡ [ÅÛ¡à ¤¸¤Ñ‚àÚ, šøà=[³A¡ [ÅÛ¡à¹ ëA¡–ƒø
Òº

(A) ƒ¹KàÒ

(B) ³à‰àÎà

(C) ³v¡û¡¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

10. ¤øàÕ¡o¸ [ÅÛ¡à ¤¸¤Ñ‚àÚ šøì¤ìÅ¹ Î³Ú ëA¡à>ô
">åË¡à>[i¡ ¤à‹¸t¡à³èºA¡ [áº?

(A) Î³à¤t¢¡>

(B) l¡üš>Ú>

(C) Wèò¡Øl¡àA¡³¢

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

11. 1953 Îàìº [¤Å«[¤ƒ¸àºÚ ³gæ¹ã A¡[³Å> ít¡¹ã
ÒìÚ[áº ™à¹ Îåšà[¹ìÅ t¡à Òº

(A) Òà–i¡à¹ A¡[³Å>

(B) ¹à‹àAõ¡Ì¡à> A¡[³Å>

(C) ³åƒà[ºÚà¹ A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

12. Re vised Na tional Pol icy of

Ed u ca tion-&¹ \>¸ K[k¡t¡ A¡[³[i¡¹ (1992)- 
&¹ Î®¡àš[t¡ ëA¡ [áìº>?

(A) ¹à³³èt¡¢ã

(B) \>à‹¢> ë¹[m¡

(C) ³>ì³àÒ> [Î}

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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9. In Islamic educational system, the

centre of primary education is

(A) Dargah

(B) Madrasa

(C) Maktab

(D) None of the above

10. Which ritual was compulsory at the

time of admission in Brahamanic

education system?

(A) Samavartan

(B) Upanayana

(C) Churakarma

(D) None of the above

11. The University Grants Commission

was constituted in 1953 on the

recommendation of

(A) Hunter Commission

(B) Radhakrishnan Commission

(C) Mudaliar Commission

(D) None of the above

12. Who was the Chairman of

Committee for Revised National

Policy of Education (1992)?

(A) Rammurty

(B) Janardhan Reddy

(C) Manmohan Singh

(D) None of them



13. ®¡à¹t¡ãÚ Î}[¤‹àì>¹ ëA¡à>ô ‹à¹à³èìº Î¹A¡à¹ã
[¤ƒ¸àºÚ * ³Òà[¤ƒ¸àºìÚ ‹³¢ãÚ [ÅÛ¡àìA¡ [>[È‡ý¡
A¡¹à ÒìÚìá?

(A) 29

(B) 28(1)

(C) 39(2)

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

14. ¤øàÕ¡o¸ [ÅÛ¡à¤¸¤Ñ‚àÚ [ÅÛ¡à¹ ³à‹¸³ [áº

(A) šà[º

(B) šøàAõ¡t¡

(C) Î}ÑAõ¡t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

15. A¡¸àºA¡ài¡à ë¤[>ì®¡àìº–i¡ Òü>[Ê¡[i¡l¡üi¡ šø[t¡Ë¡à
A¡ì¹[áìº>

(A) ³àÅ¢³¸à>

(B) ël¡[®¡l¡ ëÒÚà¹

(C) ¹à³t¡>å ºà[Ò[Øl¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

16. “Learn ing to know, learn ing to do, 

learn ing to live to gether, learn ing

to be.” &Òü ³”z¤¸[i¡ A¡ì¹ìá>

(A) \¸àA¡ [l¡ºà¹

(B) ë\. [š. >àìÚA¡

(C) [l¡l¡üÒü

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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13. Religious education is prohibited in

government schools and colleges

under which Article of Indian

Constitution?

(A) 29

(B) 28(1)

(C) 39(2)

(D) None of the above

14. The medium of instruction of

Brahmanic education was

(A) Pali

(B) Prakrit

(C) Sanskrit

(D) None of the above

15. Calcutta Benevolent Institute was

established by

(A) Marsman

(B) David Hare

(C) Ramtanu Lahiri

(D) None of them

16. “Learning to know, learning to do,

learning to live together, learning to

be.” This comment was made by

(A) Jack Delar

(B) J. P. Nayek

(C) Dewey

(D) None of them



17. ëA¡à>ô Îàìº ‘Òü[–ƒ¹à KàÞê¡ã \àt¡ãÚ ³åv¡û¡
[¤Å«[¤ƒ¸àºÚ’ Ñ‚àš> A¡¹à ÒìÚ[áº?

(A) 1986

(B) 1987

(C) 1988

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

18. ‘‘³à>åÈ &A¡[i¡ Îà³à[\A¡ šøàoã’’, ëA¡ ¤ìºìá>?

(A) A¡à–i¡

(B) "¸à[¹Ê¡i¡º

(C) ¹çò¡ìÅà

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

19. ‘Lab o ra tory School’ ëA¡ šø[t¡Ë¡à
A¡ì¹[áìº>?

(A) ¹çò¡ìÅà

(B) KàÞê¡ã\ã

(C) \> [l¡l¡üÒü

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

20. ‘‘Îõ\>ã Ñ¬"[®¡¤¸[v¡û¡¹’’ >ã[t¡[i¡ ™à¹ [ÅÛ¡à
ƒÅ¢ì>¹ ³ì‹¸ šà*Úà ™àÚ [t¡[> Òìº>

(A) [¤ì¤A¡à>–ƒ

(B) ¹¤ã–ƒø>à= k¡àAå¡¹

(C) KàÞê¡ã\ã

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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17. In which year ‘Indira Gandhi

National Open University’ was

established?

(A) 1986

(B) 1987

(C) 1988

(D) None of the above

18. Who said, “Man is a social animal”?

(A) Kant

(B) Aristotle

(C) Rousseau

(D) None of them

19. Who established the ‘Laboratory

School’?

(A) Rousseau

(B) Gandhiji

(C) John Dewey

(D) None of them

20. “The principle of creative self-

expression” is found in the

educational philosophy of

(A) Vivekananda

(B) Rabindranath Tagore

(C) Gandhiji

(D) None of them



21. ëA¡à>ô [ÅÛ¡à A¡[³Å> ‘[ÅÛ¡à l¡üšìƒÊ¡à’ šƒ[i¡ Îõ[Ê¡
A¡ì¹[áº?

(A) ³åƒà[ºÚà¹ A¡[³Å>

(B) ëA¡àk¡à¹ã A¡[³Å>

(C) Î¸àl¡ºà¹ A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

22. [>ì³—àv¡û¡ šøA¡à¹P¡[º¹ ³ì‹¸ ëA¡à>[i¡ š¹à³Å¢ ƒàì>¹ 
\>¸ Î¤ìW¡ìÚ ®¡àº š‡ý¡[t¡?

(A) ëi¡[ºìó¡àì>¹ ³à‹¸ì³ š¹à³Å¢ƒà>

(B) ³åìJà³å[J š¹à³Å¢ƒà>

(C) ƒºKt¡ š¹à³Å¢ƒà>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

23. [>ì–µàv¡û¡ ëA¡à>[i¡ šø[t¡¹Û¡à³èºA¡ ëA¡ïÅº >Ú?

(A) Î}™å[v¡û¡A¡¹o

(B) šøt¡¸à¤õ[v¡

(C) šø[t¡šè¹o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

24. [ÅÇ¡ìƒ¹ "š¹à‹ šø¤ot¡à ëƒJà ™àÚ

(A) 7-15 ¤á¹ ¤ÚìÎ

(B) 0-10 ¤á¹ ¤ÚìÎ

(C) 16-20 ¤á¹ ¤ÚìÎ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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21. Which Education Commission

created the post of ‘Educational

Adviser’?

(A) Mudaliar Commission

(B) Kothari Commission

(C) Sadler Commission

(D) None of the above

22. Which of the following is the best

form of counselling?

(A) Telephonic counselling

(B) Face-to-face counselling

(C) Group counselling

(D) None of the above

23. Which of the following is not a

defence mechanism?

(A) Association

(B) Regression

(C) Compensation

(D) None of the above

24. Delinquency is committed by the

children in age group of

(A) 7–15 years

(B) 0–10 years

(C) 16–20 years

(D) None of the above



25. ëA¡à>ô [ÅÛ¡à A¡[³Å> ‘[¤Å«[¤ƒ¸àºÚ ³gæ¹ã A¡[³Å>’
Kk¡> A¡¹à¹ Îåšà[¹Å A¡ì¹ìá>?

(A) Òà–i¡à¹ A¡[³Å>

(B) ³åƒà[ºÚà¹ A¡[³Å>

(C) ¹à‹àAõ¡Ì¡à> A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

26. Test-re test š‡ý¡[t¡ [ƒìÚ [>‹¢à[¹t¡ ÒÚ

(A) í¤‹t¡à

(B) ™=à=¢t¡à

(C) >³>ãÚt¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

27. A¡àìi¢¡à[ÎÎ-&¹ Îèy Òº

(A) ku
(P P )

Q
90 10=

-

(B) ku
(P P )

Q
90 10=

+

(C) ku
Q

(P P )90 10
=

-

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

28. A¡àÒü-ëÑHàÚà¹l¡ ëi¡Ê¡-&¹ l¡üƒàÒ¹o Òº

(A) š¸à¹àì³i¡[¹A¡ "®¡ãÛ¡à

(B) >>-š¸à¹àì³i¡[¹A¡ "®¡ãÛ¡à

(C) [¤¤¹o³èºA¡ "®¡ãÛ¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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25. Which education commission

recommended for the formation of

the ‘University Grants Commission’?

(A) Hunter Commission

(B) Mudaliar Commission

(C) Radhakrishnan Commission

(D) None of the above

26. Test-retest is a method of

determining

(A) validity

(B) reliability

(C) flexibility

(D) None of the above

27. The formula of kurtosis is

(A) ku
(P P )

Q
90 10=

-

(B) ku
(P P )

Q
90 10=

+

(C) ku
Q

(P P )90 10
=

-

(D) None of the above

28. Chi-squared test is an example of

(A) parametric test

(B) non-parametric test

(C) descriptive test

(D) None of the above



29. ™[ƒ [³[l¡Úà> 28·9 &¤} KØl¡ 30 ÒÚ, t¡ì¤ ë³àl¡ 
Òì¤

(A) 24·7

(B) 25·7

(C) 26·7

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

30. QD * MD &¹ ³ì‹¸ Î´šA¢¡ Òº

(A) QD MD5
6

=

(B) QD 2MD=

(C) QD MD6
5

=

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

31. [>³—[º[Jt¡¡ ëA¡à>[i¡ ƒå[i¡ W¡ìº¹ ³ì‹¸ Î¤ìW¡ìÚ ƒå¤¢º 
ÎÒK[t¡¹ Òü[Ut¡ ¤Ò> A¡ì¹¡?

(A) –0·92

(B) 0·15

(C) 0·40

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

32. Likert method-&¹ ¤¸¤Òà¹ A¡¹à ÒÚ

(A) Î´šàƒ>ã "®¡ãÛ¡à šøÑñ[t¡ìt¡

(B) šø¤ot¡à¹ "®¡ãÛ¡à šøÑñ[t¡ìt¡

(C) Û¡³t¡à¹ "®¡ãÛ¡à šøÑñ[t¡ìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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29. If median is 28·9 and mean is 30,

then the value of mode will be

(A) 24·7

(B) 25·7

(C) 26·7

(D) None of the above

30. Relation between QD and MD is

(A) QD MD5
6

=

(B) QD 2MD=

(C) QD MD6
5

=

(D) None of the above

31. Which of the following indicates the

weakest correlation between two

variables?

(A) –0·92

(B) 0·15

(C) 0·40

(D) None of the above

32. Likert’s method is used to prepare

(A) achievement test

(B) aptitude test

(C) ability test

(D) None of the above



33. ë³àl¡ [>o¢ìÚ¹ Îèy[i¡ Òº

(A) 3 × [³> - 2 × [³[l¡Úà>

(B) 2 × [³[l¡Úà> - 3 × [³>

(C) 3 × [³[l¡Úà> - 2 × [³>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

34. "àƒÅ¢à[Út¡ "®¡ãÛ¡à¹ í¤[ÅÊ¡¸ Òº

(A) [>®¢¡¹ì™àK¸t¡à

(B) í>¤¸[v¡û¡A¡t¡à

(C) (A) &¤} (B) ƒåÒüÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

35. Q-&¹ ³à> [>o¢Ú A¡¹, ™J>  Q 3 37 6= ×  &¤} 
Q1 30 6= × .

(A) 2·47

(B) 3·46

(C) 3·5

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

36. º¸à[i¡> Å¦ ‘Educatum’-&¹ "=¢ Òº

(A) "”z¹ ë=ìA¡ l¡ü;Îà[¹t¡ A¡¹à

(B) [ÅÛ¡àƒàì>¹ A¡à\

(C) šø[ÅÛ¡o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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33. The formula for calculation of the

mode is

(A) 3 × Mean – 2 × Median

(B) 2 × Median – 3 × Mean

(C) 3 × Median – 2 × Mean

(D) None of the above

34. The characteristic of standardized

test is

(A) reliability

(B) objectivity

(C) both (A) and (B)

(D) None of the above

35. Find out Q, when Q 3 37 6= ×  and 

Q1 30 6= × .

(A) 2·47

(B) 3·46

(C) 3·5

(D) None of the above

36. Latin word ‘Educatum’ means

(A) to draw out

(B) the act of teaching

(C) to train

(D) None of the above



37. &A¡[i¡ ÎåÎà³gÎ¸šèo¢ ¤–i¡> ÒÚ ëÎ[i¡ ë™Jàì>

(A) [³> = [³[l¡Úà>

(B) [³[l¡Úà> = ë³àl¡

(C) [³> = [³[l¡Úà> = ë³àl¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

38. "àƒÅ¢ [¤Wå¡¸[t¡¹ ¤K¢ìA¡ ¤ºà ÒÚ

(A) ë®¡[¹ìÚX

(B) ÎÒK[t¡

(C) KØl¡ [¤Wå¡¸[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

39. A¡àÒü-ëÑHàÚà¹ [>o¢Ú A¡¹à¹ Îèy[i¡ Òº

(A) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
o e

e

(B) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
e o

e

(C) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
o e

o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

40. Casa Dei Bam bi ni-&¹ šø[t¡Ë¡àt¡à ëA¡
[áìº>?

(A) ¹çò¡ìÅà

(B) óø¡ìÚì¤º

(C) ³ì”zÎ[¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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37. A symmetrical distribution is one

where

(A) mean = median

(B) median = mode

(C) mean = median = mode

(D) None of the above

38. The square of standard deviation is

called

(A) variance

(B) coefficient

(C) mean deviation

(D) None of the above

39. To compute chi-square, the formula

is

(A) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
o e

e

(B) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
e o

e

(C) c 2
2

=
-é

ë
ê
ê

ù

û
ú
ú

å
( )f f

f
o e

o

(D) None of the above

40. Who was the founder of Casa Dei

Bambini?

(A) Rousseau

(B) Froebel

(C) Montessori

(D) None of them



41. Î³àW¡à¹ ƒš¢o šø=³ šøA¡à[Åt¡ ÒÚ

(A) ëó¡ài¢¡ l¡üÒü[ºÚà³ A¡ìº\ ë=ìA¡

(B) &[ÅÚà[i¡A¡ ëÎàÎàÒü[i¡ ë=ìA¡

(C) Åøã¹à³šå¹ [³Å> ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

42. ëA¡à>ô Îàìº GCPI šø[t¡[Ë¡t¡ ÒìÚ[áº?

(A) 1823

(B) 1825

(C) 1829

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

43. ‘ó¡º ºàì®¡¹ Îèy’-&¹ šø¤v¡û¡à Òìº>

(A) [ÑH>à¹

(B) =>¢l¡àÒüA¡

(C) Òàºô

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

44. [>³—[º[Jt¡ ëA¡à>P¡[º šàk¡¸yû¡ì³¹ [®¡[v¡ [>³¢ào
A¡ì¹?

(A) Î¹A¡à¹ &¤} Î´šƒ

(B) ƒÅ¢>, Î³à\[¤ƒ¸à &¤} ³ì>à[¤ƒ¸à

(C) "‹¸Ú> l¡üšàƒà> &¤} Îà³à[\A¡ W¡à[Òƒà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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41. Samachar Darpan was first

published from

(A) Fort William College

(B) Asiatic Society

(C) Serampore Mission

(D) None of the above

42. In which year GCPI was

established?

(A) 1823

(B) 1825

(C) 1829

(D) None of the above

43. ‘Law of effect’ was given by

(A) Skinner

(B) Thorndike

(C) Hull

(D) None of them

44. Which of the following lay the

foundation for curriculum?

(A) Government and resources

(B) Philosophy, Sociology and

Psychology

(C) Study material and social needs

(D) None of the above



45. [>³—[º[Jt¡ ëA¡à>[i¡ ³¸àÎìºà¹ W¡à[Òƒà¹
yû¡³[¤A¡àìÅ¹ Î[k¡A¡ yû¡³[¤>¸àÎ?

(A) "àušøA¡àìÅ¹ W¡à[Òƒà, [>¹àšv¡à, ®¡àìºà¤àÎà
&¤} šø[t¡š[v¡

(B) šø[t¡š[v¡, ®¡àìºà¤àÎà, ³à>[ÎA¡ W¡à[Òƒà &¤}
[>¹àšv¡à

(C) Åà¹ã¹¤õv¡ãÚ W¡à[Òƒà, [>¹àšv¡à, ®¡àìºà¤àÎà,
šø[t¡š[v¡ &¤} "àušøA¡àìÅ¹ W¡à[Òƒà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

46. ‘ÎàÒü¤à¹ì>[i¡A¡Îô’ Å¦[i¡ šø=³ ¤¸¤Òà¹ A¡ì¹>

(A) >¹¤¢ài¡ Òül¡ü>à¹

(B) AÃ¡l¡. Òü. Å¸à>>

(C) "¸à[¹Ê¡i¡º

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

47. Î}Îìƒ "àÒüì>¹ ³à‹¸ì³ NCTE šø[t¡[Ë¡t¡
ÒìÚ[áº

(A) 1975

(B) 1995

(C) 1986

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

48. ¤å[‡ý¡³v¡à¹ ëA¡à>ô ëÅøoãìt¡ =àA¡ìº t¡àìƒ¹ [>ì¤¢à‹
¤ìº [W¡[Òû¡t¡ A¡¹à ÒÚ¡?

(A) 100–125

(B) 0–25

(C) 60–90

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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45. Which of the following is the correct

order for Maslow’s hierarchy of

needs?

(A) Self-actualization, safety, love

and esteem

(B) Esteem, love, psychological

needs and safety

(C) Physiological needs, safety, love, 

esteem and self-actualization

(D) None of the above

46. The word ‘cybernetics’ was first used 

by

(A) Norbert Wiener

(B) Claude E. Shannon

(C) Aristotle

(D) None of them

47. NCTE was established by an Act of

Parliament in the year

(A) 1975

(B) 1995

(C) 1986

(D) None of the above

48. Idiots are labelled as having an IQ

range of

(A) 100–125

(B) 0–25

(C) 60–90

(D) None of the above



49. ‘šàk¡¸yû¡³’ ¤ºìt¡ [A¡ ë¤àc¡àÚ?

(A) [ÅÛ¡àšø[t¡Ë¡à> šøƒv¡ [ÅJ> [¤ÈÚ¤Ññ

(B) š¹ãÛ¡à šàìÅ¹ \>¸ t¡à[wA¡ &¤} ¤¸¤Òà[¹A¡
šàk¡¸ [¤ÈÚ¡

(C) &[i¡ [ÅÛ¡àšø[t¡Ë¡à> šøƒv¡ Î´šèo¢ `¡à> &¤}
"[®¡`¡t¡à¹ Î³ÞÚ ™à [A¡>à [>[ƒ¢Ê¡ ºÛ¡¸
l¡üšº[§¡ A¡¹àÚ¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

50. [¤Å«®¡à¹t¡ã [¤Å«[¤ƒ¸àºìÚ¹ "àW¡à™¢ Òìº>

(A) ®¡à¹ìt¡¹ ¹àÊ¡öš[t¡

(B) ®¡à¹ìt¡¹ šø‹à>³”|ã

(C) š[ÆW¡³¤ìU¹ ¹à\¸šàº

(D) &òìƒ¹ ³ì‹¸ ëA¡l¡üÒü >>

51. [>³—[º[Jt¡ ëA¡à>[i¡ Î[k¡A¡ ë\àØl¡à >Ú?

(A) Î³¸A¡ [¤Wå¡¸[t¡ = P

(B) A¡àÒü-ëÑHàÚà¹ = c 2

(C) ¤×³åJã ÎÒK[t¡ = R

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

52. "šàì¹Å> ¤Ã¸àA¡ì¤àl¢¡ šøA¡¿[i¡ ™à¹ l¡üÄ[t¡A¡ì¿ W¡àºå 
ÒìÚ[áº t¡à Òº

(A) [ÅÛ¡A¡ [ÅÛ¡o

(B) šøà=[³A¡ [ÅÛ¡à

(C) ³à‹¸[³A¡ [ÅÛ¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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49. What is meant by the term

‘curriculum’?

(A) The subject of study offered by

an educational institution

(B) Theory and practical courses to

pass an examination

(C) Organized whole of learning and 

other experiences provided by

educational institutions, to

realize set goals

(D) None of the above

50. Chancellor of Visva-Bharati

University is the

(A) President of India

(B) Prime Minister of India

(C) Governor of West Bengal

(D) None of them

51. Which of the following is incorrect

pairing?

(A) Standard deviation = P

(B) Chi-square = c 2

(C) Multiple correlation = R

(D) None of the above

52. Operation Blackboard Programme

was introduced to improve

(A) teacher education

(B) primary education

(C) secondary education

(D) None of the above



53. [ÅÛ¡à¹ W¡à¹[i¡ Ñzì´±¹ ‹à¹oà[i¡ šøÑzà¤ A¡ì¹[áìº>

(A) UNICEF

(B) UNESCO

(C) NCTE

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

54. ëA¡à>ô Îàìº NCERT šø[t¡[Ë¡t¡ ÒìÚ[áº?

(A) 1960

(B) 1961

(C) 1971

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

55. Îåšøã³ ëA¡ài¡¢ Îà³à[\A¡ &¤} "à[=¢A¡®¡àì¤ [š[áìÚ
šØl¡à \>ìKàË¡ã¹ \>¸ Î}¹Û¡ìo¹ ë™ Îì¤¢àZW¡ Îã³à 
[>‹¢à¹o A¡ì¹ìá> t¡à Òº

(A) 19%

(B) 22%

(C) 50%

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

56. ®¡à¹t¡¤È¢ Ñ¬à‹ã>t¡à ºàì®¡¹ š¹ >à¹ã[ÅÛ¡à¹ \>¸
šø=³ ë™ A¡[³[i¡ ít¡¹ã A¡ì¹> ëÎ[i¡ Òº

(A) ¹à‹àAõ¡Ì¡à> A¡[³Å>

(B) l¡@ ƒåK¢à¤àÒü ëƒÅ³åJ A¡[³[i¡

(C) ³åƒà[ºÚà¹ A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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53. The idea of four pillars of education

was suggested by

(A) UNICEF

(B) UNESCO

(C) NCTE

(D) None of the above

54. In which year NCERT was

established?

(A) 1960

(B) 1961

(C) 1971

(D) None of the above

55. The ceiling fixed by the Supreme

Court for reservation for the socially

and economically disadvantaged

section is

(A) 19%

(B) 22%

(C) 50%

(D) None of the above

56. The first committee to be constituted 

after Independence by the

Government of India on women’s

education was

(A) Radhakrishnan Commission

(B) Dr. Durgabai Deshmukh

Committee

(C) Mudaliar Commission

(D) None of the above



57. &A¡[i¡ [ÅÇ¡ t¡à¹ ¤åìØl¡à "àUåº ëW¡àìÈ¡ú &[i¡
[A¡ìÎ¹ l¡üƒàÒ¹o?

(A) šøt¡¸à¤õ[v¡¹

(B) "àNøàÎì>¹

(C) šøt¡¸àÒàì¹¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

58. &A¡[i¡ [ÅÇ¡ ‘dog’ ëA¡ ‘god’ [ÒìÎì¤ šìØl¡,
t¡àÒìº ëÎ ë™ ‹¹ì>¹ ëÅJà¹ "Û¡³t¡àÚ ®å¡Kìá
t¡à Òº

(A) [l¡ÎìºA¡[ÎÚà

(B) [l¡ÎNøà[ó¡Úà

(C) [l¡Îìšø[GÚà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

59. "àƒÅ¢à[Út¡ "®¡ãÛ¡à¹ ƒå[i¡ P¡¹ç¡Œšèo¢ í¤[ÅÊ¡¸ Òº

(A) í>¤¸[v¡û¡A¡t¡à &¤} [¤Å«àÎì™àK¸t¡à

(B) [¤Å«àÎì™àK¸t¡à &¤} í¤‹t¡à

(C) [¤Å«àÎì™àK¸t¡à &¤} ¤¸¤Òà¹ì™àK¸t¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. [ÅÛ¡à¹ Îà¤¢\>ã> l¡üì„Å¸ Òº

(A) ³å[v¡û¡

(B) Îà[¤¢A¡ l¡üÄÚ>

(C) ¤õ[v¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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57. A baby sucking his/her thumb is an 

example of

(A) regression

(B) aggression

(C) withdrawal

(D) None of the above

58. A child who reads ‘dog’ as ‘god’ falls

in which category of learning

disability?

(A) Dyslexia

(B) Dysgraphia

(C) Dyspraxia

(D) None of the above

59. Two most important characteristics

of a standardized test are

(A) objectivity and reliability

(B) reliability and validity

(C) reliability and usability

(D) None of the above

60. Which is the universal objective of

education?

(A) Liberation

(B) Total development

(C) Vocation

(D) None of the above



61. ³Òà¹à\à ¤ã¹ [¤yû¡³ [¤Å«[¤ƒ¸àºÚ šø[t¡[Ë¡t¡
ÒìÚ[áº ë™ Îàìº t¡à Òº

(A) 2014

(B) 2015

(C) 2017

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

62. &A¡\> "à‹å[>A¡ ®¡à¹t¡ãÚ [ÅÛ¡à[¤ƒ [™[> [áìº>
Jå¤Òü šøAõ¡[t¡¤àƒã [t¡[> Òìº>

(A) Ñ¬à³ã [¤ì¤A¡à>–ƒ

(B) ¹¤ã–ƒø>à= k¡àAå¡¹

(C) Åøã "¹[¤–ƒ

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

63. & [Kóô¡i¡ iå¡ ³ì>àì=ÒüÊ¡Îô Nø”‚[i¡ ëA¡ ¹W¡>à A¡ì¹>?

(A) ³Òàuà KàÞê¡ã

(B) ¹à\à ¹à³ì³àÒ> ¹àÚ

(C) ³¸àG ³èºà¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

64. [>³—[º[Jt¡ [ÅÛ¡à[¤ƒìƒ¹ ³ì‹¸ ëA¡ ë>àì¤º šå¹ÑHà¹ 
ëšìÚ[áìº>?

(A) "à¹. &³. KàÒüì>

(B) Òü®¡à> š¸à®¡º®¡

(C) ë\. &Î. ¤øå>à¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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61. Maharaja Bir Bikram University was 

established in the year

(A) 2014

(B) 2015

(C) 2017

(D) None of the above

62. A modern Indian educationist who

was very much naturalist was

(A) Swami Vivekananda

(B) Rabindranath Tagore

(C) Sri Aurobindo

(D) None of them

63. Who is the author of the book, A Gift 

to Monotheists?

(A) Mahatma Gandhi

(B) Raja Rammohan Roy

(C) Max Muller

(D) None of them

64. Which of the following Educationists 

won the Noble Prize?

(A) R. M. Gayne

(B) Ivan Pavlov

(C) J. S. Bruner

(D) None of them



65. ">åÅãºì>¹ Îèy áàyáàyãìƒ¹ ÎÛ¡³ A¡ì¹

(A) Î³Î¸à Î³à‹àì>

(B) "”zƒ¢õ[Ê¡ìt¡

(C) ¤å[‡ý¡³v¡àÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

66. [>³—[º[Jt¡ ëA¡à>ô "¤Ñ‚à[i¡ ˜¡oàuA¡ šå>¹ç¡šÑ‚àšA¡
[ÒìÎì¤ š[¹K[ot¡ Òìt¡ šàì¹?

(A) Åà[Ñz šøƒà>

(B) šå¹ÑHàì¹¹ šø[t¡Î}Òà¹

(C) ë¤ƒ>àƒàÚA¡ l¡ü„ãšìA¡¹ šøt¡¸àÒà¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

67. ë¹ìºÒüK A¡[³Å> ëA¡ Ñ‚àš> A¡ì¹[áìº>?

(A) ºl¢¡ A¡à\¢>

(B) ¹¤ã–ƒø>à= k¡àAå¡¹

(C) l¡üÒü[ºÚà³ ë¤[–i¡S¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

68. ‘=>¢l¡àÒüìA¡¹ [ÅJ> t¡w[i¡ ">¸ ë™ >àì³ š[¹[W¡t¡
t¡à Òº

(A) Î}ì™à\>¤àƒ

(B) Îà³¸¤àƒ

(C) `¡à>¤àƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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65. Law of exercise enables students to

(A) problem solving

(B) insight

(C) intelligence

(D) None of the above

66. Which one of the following

conditions qualifies to be an

instance of negative reinforcement?

(A) Giving a punishment

(B) Withholding a reward

(C) Withdrawing a painful stimulus

(D) None of the above

67. Who established Raleigh

Commission?

(A) Lord Curzon

(B) Rabindranath Tagore

(C) William Bentinck

(D) None of them

68. Thorndike’s theory of learning is

also known as

(A) connectionism

(B) socialism

(C) cognitivism

(D) None of the above



69. š¸à®¡º®¡ &¤} [ÑH>àì¹¹ [ÅJì>¹ t¡w[i¡ "”z¢®å¡v¡û¡
Òº

(A) Kk¡>t¡”|¤àìƒ¹

(B) [yû¡Úà¤àìƒ¹

(C) "àW¡¹o¤àìƒ¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

70. [>³—[º[Jt¡ ëA¡à>ô í¤[ÅÊ¡¸[i¡ ¤å[‡ý¡ƒãœ¡ [ÅÇ¡ìƒ¹
>Ú?

(A) l¡üZW¡ ¤å[‡ý¡³v¡à

(B) l¡üZW¡ Aõ¡[t¡Œ

(C) šø=à>åÎà¹ã ³ì>à®¡à¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

71. [>³—[º[Jt¡ ëA¡à>[i¡ ¤å[‡ý¡³v¡à &¤} Îõ\>Åãºt¡à¹
\>¸ Î[t¡¸?

(A) Î³Ñz ¤å[‡ý¡³à> [ÅÇ¡¹àÒü Îõ\>Åãº

(B) Î³Ñz Îõ\>Åãº [ÅÇ¡¹à l¡üZW¡ IQ-&¹
"[‹A¡à¹ã

(C) [A¡áå [A¡áå Îõ\>Åãº [ÅÇ¡ìƒ¹ l¡üZW¡ IQ

¹ìÚìá

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

72. [¤Å«[¤ƒ¸àºÚ ³gæ¹ã A¡[³Åì>¹ šø=³ ëW¡Úà¹³¸à> ëA¡ 
[áìº>?

(A) "‹¸àšA¡. &Î. &Î. ®¡ài¡>K¹

(B) "‹¸àšA¡. [l¡. &Î. ëA¡àk¡à¹ã

(C) "‹¸àšA¡ ™Åšàº

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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69. Learning theory of Pavlov and

Skinner belongs to

(A) structuralism

(B) functionalism

(C) behaviourism

(D) None of the above

70. Which of the following is not a

characteristic of a gifted child?

(A) High intelligence

(B) High achievement

(C) Conformist attitude

(D) None of the above

71. Which of the following is true for

intelligence and creativity?

(A) All intelligent children are

creative

(B) All creative children have high

IQ

(C) Some creative children have

high IQ

(D) None of the above

72. Who was the first Chairman of

University Grant Commission?

(A) Prof. S. S. Bhatnagar

(B) Prof. D. S. Kothari

(C) Prof. Yashpal

(D) None of them



73. ëA¡à>ô Îàìº ‘\àt¡ãÚ [ÅÛ¡à š[¹Èƒ’ Ñ‚à[št¡
ÒìÚ[áº?

(A) 1903

(B) 1906

(C) 1904

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

74. [>³—[º[Jt¡ ëA¡à>ô [ÅÛ¡à A¡[³Å> šøà=[³A¡ [ÅÛ¡à¹
[¤ìA¡–ƒøãA¡¹o Q[i¡ìÚ[áº?

(A) Òà–i¡à¹ A¡[³Å>

(B) Î¸àl¡ºà¹ A¡[³Å>

(C) ëA¡àk¡à¹ã A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. ‘Î³ÚKt¡ ¤ÚÎ’ ™à š[¹³àìš¹ ÎìU Î´šA¢¡™åv¡û¡
t¡à Òº

(A) ¤¸[v¡û¡Œ

(B) ³ì>à®¡à¤

(C) ¤å[‡ý¡³v¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

76. Î¸àl¡ºà¹ A¡[³Åì>¹ ³ìt¡ [l¡[Nø ëA¡àìÈ¢¹ ë³Úàƒ-
A¡àº A¡¹à l¡ü[W¡;

(A) ƒåÒü ¤á¹

(B) [t¡> ¤á¹

(C) W¡à¹ ¤á¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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73. In which year ‘National Council of

Education’ was established?

(A) 1903

(B) 1906

(C) 1904

(D) None of the above

74. Which of the following commissions

first decentralized the primary

education?

(A) Hunter Commission

(B) Sadler Commission

(C) Kothari Commission

(D) None of the above

75. ‘Chronological age’ is related to the

measurement of

(A) personality

(B) attitude

(C) intelligence

(D) None of the above

76. According to Sadler Commission,

the duration of degree course should 

be made

(A) two years

(B) three years

(C) four years

(D) None of the above



77. ³èºt¡ [ÅJì>¹ K¸àÊ¡àÂi¡¡ t¡ìw¹ ‹à¹oàKt¡ [®¡[v¡
Òº

(A) ³ì>àì™àK

(B) l¡üšº[§¡

(C) ‹¸à>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

78. MMPI ëA¡à>[i¡¹ ÎìU Î´šA¢¡™åv¡û¡?

(A) ¤å[‡ý¡³v¡à

(B) ¤¸[v¡û¡Œ

(C) Îõ\>Åãºt¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

79. Ñ¬à‹ã> ®¡à¹ìt¡¹ šø=³ \àt¡ãÚ [ÅÛ¡à>ã[t¡ ëA¡à>ô
Îàìº ëQà[Èt¡ ÒìÚ[áº?

(A) 1947

(B) 1964

(C) 1968

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

80. 6 ë=ìA¡ 14 ¤áì¹¹ [ÅÇ¡ìƒ¹ [¤>àì¤t¡ì> &¤}
"à¤[Å¸A¡ [ÅÛ¡à šøƒàì>¹ [¤ÈÚ[i¡ ®¡à¹ìt¡¹
Î}[¤‹àì>¹ ë™ "}ìÅ ëšøà[=t¡ "àìá t¡à Òº

(A) Article 46

(B) Article 21A

(C) Article 16

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/18 21 [ P.T.O.

77. Mostly Gestaltist theories of learning 

are based on the idea of

(A) concentration

(B) perception

(C) meditation

(D) None of the above

78. MMPI is associated with

(A) intelligence

(B) personality

(C) creativity

(D) None of the above

79. The first National Policy on

Education in free India was

launched in the year

(A) 1947

(B) 1964

(C) 1968

(D) None of the above

80. The right to free and compulsory

edcuation for children between age

group of 6 to 14 has been inserted in 

Indian Constitution as

(A) Article 46

(B) Article 21A

(C) Article 16

(D) None of the above



81. [ÅJ> Òº yû¡³¤‹¢³à> šø[yû¡Úà, "”zƒõ¢[Ê¡³èºA¡ >Ú’’
&[i¡ ëA¡à> [ÅJ> t¡ìw¹ "}Å?

(A) =>¢l¡àÒüìA¡¹ [ÅJ> t¡w

(B) š¸à®¡ºì®¡¹ [ÅJ> t¡w

(C) *Úài¡Îì>¹ [ÅJ> t¡w

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

82. ‘l¡üš³àì>¹ Îèy’ ë™ >à³[i¡¹ Îàì= Î}™åv¡û¡ t¡à Òº

(A) š¸à®¡º®¡

(B) =>¢l¡àÒüA¡

(C) [ÑH>à¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

83. "àW¡¹o¤àìƒ¹ \>A¡ Òìº>

(A) š¸à®¡º®¡

(B) \> *Úài¡Î>

(C) [ÑH>à¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

84. ‘[>¤¢àš>’ >ã[t¡[i¡¹ "}Å Òº

(A) šøàW¡ã> ÎàìšÛ¡ãA¡¹ìo¹ 

(B) "šàì¹–i¡ ÎàìšÛ¡ãA¡¹ìo¹

(C) "”zƒ¢õ[Ê¡³èºA¡ [ÅJì>¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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81. “Learning is incremental, not

insightful” is part of which learning

theory?

(A) Thorndike’s theory of learning

(B) Pavlov’s theory of learning

(C) Watson’s theory of learning

(D) None of the above

82. The name associated with ‘law of

analogy’ is

(A) Pavlov

(B) Thorndike

(C) Skinner

(D) None of them

83. Father of behaviourism is

(A) Pavlov

(B) John Watson

(C) Skinner

(D) None of them

84. ‘Extinction’ is the principle of

(A) classical conditioning

(B) operant conditioning

(C) insightful learning

(D) None of the above



85. ‘"”zƒ¢õ[Ê¡³èºA¡’ [ÅJ> ë™ >à³[i¡¹ Îàì= Î´šA¢¡™åv¡û¡ 
t¡à Òº

(A) š¸à®¡º®¡

(B) K¸àÊ¡àÂi¡

(C) [ÑH>à¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

86. ëA¡ ‘³à>[ÎA¡ ¤ÚÎ’-&¹ ‹à¹oà[i¡ [ƒìÚ[áìº>?

(A) K¸àÂi¡>

(B) "àºìóø¡l¡ [¤ì>i¡

(C) l¡à¹l¡üÒü>

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

87. ™J> MA &¤} CA &A¡ Î³à>, t¡J> IQ Òì¤

(A) 110

(B) 0

(C) 100

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

88. ëA¡ A¡[ºA¡àt¡à \àt¡ãÚ A¡ìºì\¹ šø=³ "‹¸Û¡
[áìº>?

(A) Ît¡ãÅ ³åJà\¢ã

(B) "¹[¤–ƒ ëQàÈ

(C) ¹¤ã–ƒø>à= k¡àAå¡¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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85. The name associated with

‘insightful’ learning is

(A) Pavlov

(B) Gestalt

(C) Skinner

(D) None of them

86. Who has given the concept of

‘mental age’?

(A) Galton

(B) Alfred Binet

(C) Darwin

(D) None of them

87. When MA and CA are same, then

the IQ is

(A) 110

(B) 0

(C) 100

(D) None of the above

88. Who was the First Principal of

National College in Calcutta?

(A) Satish Mukherjee

(B) Aurobindo Ghosh

(C) Rabindranath Tagore

(D) None of them



89. ºl¢¡ A¡à\¢ì>¹ [ÅÛ¡à>ã[t¡ ë™ Îàìº šøA¡à[Åt¡
ÒìÚ[áº t¡à Òº

(A) 1903

(B) 1904

(C) 1905

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

90. [>³—[º[Jt¡ ëA¡à>[i¡ ¤å[‡ý¡³v¡à¹ "-ë³ï[JA¡
"®¡ãÛ¡à?

(A) Ð¡à“¡¢àl¡ šøìNø[Î®¡ ë³[i¡öìÎÎ

(B) Ð¡¸à>ìó¡àl¢¡ {¤ì>

(C) WAIS

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

91. [\> [šÚòàì\ šø¤t¢¡> A¡ì¹[áìº>

(A) Î}ì¤ƒ>-Îe¡àº>³èºA¡ Ñz¹ t¡w

(B) Îœ¡-l¡üšàƒà> t¡w

(C) Îà‹à¹o-l¡üšàƒà> t¡w

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

92. ë™ [ÅÇ¡[i¡¹ ³à>[ÎA¡ ¤ÚÎ Òº 12 &¤} IQ Òº
120 t¡à¹ Ñ¬à®¡à[¤A¡ ¤ÚÎ A¡t¡ Òì¤?

(A) 10

(B) 20

(C) 25

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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89. Educational policy of Lord Curzon

was published in the year

(A) 1903

(B) 1904

(C) 1905

(D) None of the above

90. Which of the following is a

non-verbal test of intelligence?

(A) Standard progressive matrices

(B) Stanford Binet

(C) WAIS

(D) None of the above

91. Jean Piaget introduced

(A) sensory-motor stage theory

(B) seven-factor theory

(C) general-factor theory

(D) None of the above

92. What will be the chronological age of 

a child whose mental age is 12 and

IQ is 120?

(A) 10

(B) 20

(C) 25

(D) None of the above



93. [šÚòàì\¹ ¤å[‡ý¡³v¡à¹ t¡w[i¡ [¤Ñzà[¹t¡ [¤¤¹o ëƒ¤à¹ 
šøìW¡Ê¡à A¡ì¹ìá

(A) Îõ\>Åãºt¡à¹

(B) ë™ï[v¡û¡A¡ [¤W¡à¹Å[v¡û¡¹

(C) ¤¸[v¡û¡Œ¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

94. "à[³¢-"àºó¡à "®¡ãÛ¡à ë™[i¡ šø=³ [¤Å«™åì‡ý¡¹ Î³Ú 
K[k¡t¡ ÒìÚ[áº ëÎ[i¡ Òº &A¡[i¡

(A) ƒºKt¡ ®¡àÈà[®¡[v¡A¡ ¤å[‡ý¡³v¡à¹ "®¡ãÛ¡à

(B) ¤¸[v¡û¡Kt¡ ®¡àÈà[®¡[v¡A¡ "®¡ãÛ¡à

(C) ¤¸[v¡û¡Kt¡ Î´šàƒ>ã "®¡ãÛ¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

95. Îõ\>Åãºt¡à &¤} ¤å[‡ý¡³v¡à¹ ³ì‹¸ Î´šA¢¡ Òº

(A) í¹[JA¡

(B) ¤yû¡ì¹Jà-ë¤[Ê¡t¡

(C) í¹[JA¡ &¤} ¤yû¡ì¹Jà-ë¤[Ê¡t¡ ƒåÒüÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

96. ëA¡ ¤¸[v¡û¡ìŒ¹ ÎàÒüìA¡à-&>à[º[i¡A¡ [=*[¹ šøÑzà¤
A¡ì¹[áìº>?

(A) &l¡ºà¹

(B) óø¡ìÚl¡

(C) Ò[>¢

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

97. ‘"¸à}ìºà-í¤[ƒA¡’ A¡ìºì\¹ šø[t¡Ë¡àt¡à ëA¡
[áìº>?

(A) ƒÚà>–ƒ Î¹Ñ¬t¡ã

(B) #Å«¹W¡–ƒø [¤ƒ¸àÎàK¹

(C) ¤àƒº P¡œ¡¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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93. Piaget’s theory of intelligence

attempts to give a detailed

description of

(A) creativity

(B) logical reasoning

(C) personality

(D) None of the above

94. The Army-Alpha Test which was

developed during The World War–I is 

a/an

(A) group verbal intelligence test

(B) individual verbal test

(C) individual performance test

(D) None of the above

95. The relationship between creativity

and intelligence is

(A) linear

(B) curvilinear

(C) both linear and curvilinear

(D) None of the above

96. Who proposed psycho-analytic

theory of personality?

(A) Adler

(B) Freud

(C) Horney

(D) None of them

97. Who was the founder of

‘Anglo-Vedic’ College?

(A) Dayananda Saraswati

(B) Iswar Chandra Vidyasagar

(C) Badal Gupta

(D) None of them



98. ë¤øÒü>Ð¡¹[³}-&¹ šø[ÅÛ¡ìo

(A) Îõ\>Åãº Î³Î¸à-Î³à‹à>A¡à¹ã Û¡³t¡à ¤õ[‡ý¡
šàÚ

(B) ¤å[‡ý¡³v¡à ¤õ[‡ý¡ šàÚ

(C) Îõ\>Åãºt¡à A¡ì³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

99. ‘ë¤>à¹Î Î}ÑAõ¡t¡ A¡ìº\’ šø[t¡[Ë¡t¡ ÒìÚ[áº
ëA¡à>ô Îàìº?

(A) 1788

(B) 1988

(C) 1791

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

100. š¸à¹à>ìÚl¡ ¤¸[v¡û¡ìŒ¹ W¡à[¹[yA¡ í¤[ÅÊ¡¸ Òº

(A) Îì–ƒÒ šø¤>, [Ò}ÎåA¡ &¤} #È¢à[Þt¡

(B) W¡àš &¤} ‡–‡

(C) l¡üì‡K, W¡àš &¤} ‡–‡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

101. ëA¡ ‘ë\>àì¹º &ìÎ´¬[ºÎ Òü>[Ê¡[i¡l¡üi¡’ Ñ‚àš>
A¡ì¹[áìº>?

(A) "àìºA¡\à“¡à¹ l¡àó¡

(B) ºl¢¡ [¹š>

(C) ºl¢¡ ë¤[–i¡S¡¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

102. ¤õ[‡ý¡ Î´šA¢¡™åv¡û¡ Òº

(A) ³ì>à®¡àì¤¹ Îàì=

(B) Åà¹ã[¹A¡ "}ìÅ¹ Îàì=

(C) "àNøìÒ¹ Îàì=

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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98. Training in brainstorming

(A) increases creative problem-

solving

(B) increases intelligence

(C) decreases creativity

(D) None of the above

99. ‘Benaras Sanskrit College’

established in which year?

(A) 1788

(B) 1988

(C) 1791

(D) None of the above

100. Paranoid personality is

characterised by

(A) suspiciousness, envy and

jealousy

(B) Stress and conflict

(C) anxiety, stress and conflict

(D) None of the above

101. Who founded the ‘General

Assembly’s Institution’?

(A) Alexander Duff

(B) Lord Ripon

(C) Lord Bentinck

(D) None of them

102. Growth is associated with

(A) attitudes

(B) physical parts

(C) interests

(D) None of the above



103. Î}¤àƒ ëA¡ï³åƒã šøA¡àÅ A¡ì¹[áìº>

(A) ¹¤ã–ƒø>à= k¡àAå¡¹

(B) ¹à\à ¹à³ì³àÒ> ¹àÚ

(C) #Å«¹W¡–ƒø [¤ƒ¸àÎàK¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

104. Åøã "¹[¤–ƒ [¤Å«àÎ A¡¹ìt¡> ë™ ³à>åÈ ™J>
Åà¹ã[¹A¡, ³à>[ÎA¡ &¤} "à‹¸à[uA¡®¡àì¤ Î}Òt¡
ÒÚ t¡J> t¡à¹ ë®¡t¡¹ ë™ Å[v¡û¡¹ Îõ[Ê¡ ÒÚ t¡à Òº

(A) Îåšà¹ Å[v¡û¡

(B) 'Å«[¹A¡ Å[v¡û¡

(C) ³à>[ÎA¡ Å[v¡û¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

105. í\> šàk¡¸yû¡ì³ šài¡ãK[ot¡ "”z®å¢¡v¡û¡ ÒìÚ[áº ™à
"‹¸Ú> A¡¹à¹ \>¸ t¡à Òº

(A) "à‹¸à[uA¡ `¡à>

(B) íA¡¤º¸ `¡à>

(C) \Øl¡¤Ññ¹ "‹¸Ú>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

106. í¤[ƒA¡ ™åìK [ÅÛ¡àìA¡–ƒøP¡[ºìA¡ ëA¡à>ô >àì³ l¡àA¡à
Òt¡?

(A) P¡¹ç¡KõÒ

(B) P¡¹ç¡Aè¡º

(C) šàk¡Åàºà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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103. Sambad Kaumudi was published by

(A) Rabindranath Tagore

(B) Raja Rammohan Roy

(C) Iswar Chandra Vidyasagar

(D) None of them

104. Shri Aurobindo believed that when

man is physically, mentally and

spiritually integrated, he develops

this power in him.

(A) Superpower

(B) Divine power

(C) Mental power

(D) None of the above

105. In the Jain Curriculum of

Education, arithmetic is included to

study

(A) spiritual knowledge

(B) Kaiwalya knowledge

(C) study of matter

(D) None of the above

106. What were the centres of education

in Vedic Age called?

(A) Guru Greha

(B) Gurukul

(C) Pathshala

(D) None of the above



107. ¤à}ºàÚ šø=³ ³[Òºà A¡ìº\[i¡¹ >à³ l¡üìÀJ A¡¹¡ú

(A) ë¤=å> A¡ìº\

(B) Î}ÑAõ¡t¡ A¡ìº\

(C) [Ò–ƒå A¡ìº\

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

108. [ÅÛ¡à ëÅìÈ í¤[ƒA¡ ™åìK ëA¡à>ô ">åË¡à> "àìÚà\> 
A¡¹à Òt¡?

(A) A¡>ì®¡àìA¡Å>

(B) l¡üš>Ú>

(C) Î³à¤t¢¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

109. ³à‰àÎà¹ [ÅÛ¡à š‡ý¡[t¡ [áº

(A) "àìºàW¡>à

(B) l¡üššàƒ>

(C) ¤v¡ûõ¡t¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

110. ³åÎ[º³¹à t¡àìƒ¹ Î”zà>ìƒ¹ [ÅÛ¡à¹ ÎåW¡>àìA¡
¤ºìt¡>

(A) Òü>Îôà-"àÀàÒ

(B) [¤Îô[³ÀàÒ

(C) ³àÎà "àÀàÒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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107. Name the first college for women in

Bengal.

(A) Bethune College

(B) Sanskrit College

(C) Hindu College

(D) None of the above

108. What celebration or ceremony was

held in Vedic times at the end of

education?

(A) Convocation

(B) Upanayana

(C) Samavartan

(D) None of the above

109. The teaching method of Madrasas

was

(A) discussion

(B) demonstration

(C) lecture

(D) None of the above

110. The Muslim called the beginning of

education of their children as

(A) Insha-Allah

(B) Bismillah

(C) Mansha Allah

(D) None of the above



111. ë¤ï‡ý¡ [ÅÛ¡àìA¡–ƒøP¡[ºìA¡ ¤ºà Òt¡

(A) ¤å‡ý¡ íW¡t¡¸

(B) ¤å‡ý¡ [¤Òà¹

(C) ¤å‡ý¡ ³k¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

112. Ñ¬à³ã [¤ì¤A¡à>–ƒ 1887 Îàìº šø[t¡Ë¡à A¡ì¹[áìº>

(A) ëÎ¤àÅø³

(B) ¹à³Aõ¡Ì¡ ³k¡

(C) í¤[ƒA¡ ³k¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

113. ‘Åøã[>ìA¡t¡>’ ¹¤ã–ƒø>à= k¡àAå¡¹ šø[t¡Ë¡à A¡ì¹[áìº>
™à [ÅÛ¡à ëƒ¤à¹ šø[t¡Ë¡à> [ÒìÎì¤ t¡à Òº

(A) A¡à¹ê¡[Å¿

(B) >õt¡¸

(C) Î}Kãt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

114. ë¤ï‡ý¡ [ÅÛ¡à ¤¸¤Ñ‚à ">åÎàì¹, ³[Òºà¹à [ÅÛ¡à NøÒo 
A¡¹ìt¡>

(A) KõìÒ

(B) "àºàƒà Î}ìQ

(C) Ñzèìš

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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111. The centres of Buddhistic education

were

(A) Buddha Chaitya

(B) Buddha Viharas

(C) Buddha Math

(D) None of the above

112. In 1887, Swami Vivekananda

established

(A) Sevashram

(B) Ram Krishna Math

(C) Vedic Math

(D) None of the above

113. ‘Shriniketan’ established by

Rabindranath Tagore was an

institution for the education of

(A) craft

(B) dance

(C) music

(D) None of the above

114. According to Buddhistic Education

System, women had received

education in

(A) home

(B) separate sanghas

(C) stupas

(D) None of the above



115. ¹òç¡ìÅà ™à¹ ³à‹¸ì³ [ÅÛ¡à=¢ãìƒ¹ Åà[Ñz šøƒàì>¹
šìÛ¡ [áìº> t¡à Òº

(A) šøAõ¡[t¡

(B) [Å[Û¡A¡à / [ÅÛ¡A¡

(C) "[®¡®¡à¤A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

116. ‘ëó¡¢ài¡ l¡üÒü[ºÚà³ A¡ìº\’ ëA¡ Ñ‚àš> A¡ì¹[áìº>?

(A) ºl¢¡ *ìÚìºÎ[º

(B) ºl¢¡ [¹š>

(C) l¡üÒü[ºÚà³ ë¤[–i¡S¡

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

117. šøàW¡ã>t¡³ ë¤ìƒ¹ >à³[i¡ Òº

(A) ˜¡A¡ì¤ƒ

(B) Îà³ì¤ƒ

(C) ™\åì¤¢ƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

118. &[i¡ í\> ‹ì³¢¹ ‘[y¹ìâ—¹’ ³ì‹¸ &A¡[i¡¡ú

(A) ÎåW¡[¹y

(B) Î[k¡A¡ A¡³¢

(C) Î[k¡A¡ [ÅÛ¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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115. Rousseau was in favour of

punishing the students by

(A) nature

(B) teacher

(C) guardian

(D) None of the above

116. Who founded ‘Fort William College’?

(A) Lord Wellesley

(B) Lord Ripon

(C) William Bentinck

(D) None of them

117. Name the oldest Veda is

(A) Rigveda

(B) Samveda

(C) Yajurveda

(D) None of the above

118. It is one of the ‘ Triratnas’ of

Jainism.

(A) Right Character

(B) Right Action

(C) Right Education

(D) None of the above



119. ë¤ï‡ý¡‹³¢ ">åÎàì¹ ‘"Ê¡àU ³àìK¢¹’ &A¡[i¡ Òº

(A) Î[k¡A¡ Jàƒ¸

(B) Î[k¡A¡ ëšàÅàA¡

(C) Î[k¡A¡ Î}A¡¿

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

120. ë¤àì‹àƒÚ ¤Òü[i¡ ëA¡ ¹W¡>à A¡ì¹[áìº>?

(A) ¹¤ã–ƒø>à= k¡àAå¡¹

(B) ¹à\à ¹à³ì³àÒ> ¹àÚ

(C) #Å«¹W¡–ƒø [¤ƒ¸àÎàK¹

(D) l¡üšì¹¹ ëA¡l¡üÒü >>

121. ë¤ï‡ý¡‹ì³¢¹ ƒàÅ¢[>A¡ ">å[³[t¡ Òº

(A) A¡ì³¢ [¤Å«àÎ

(B) #Å«ì¹ [¤Å«àÎ

(C) ®¡àìK¸ [¤Å«àÎ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

122. Î³àW¡à¹ ƒš¢o š[yA¡à[i¡ ëA¡ šøA¡àÅ A¡ì¹[áìº>?

(A) #Å«¹W¡–ƒø [¤ƒ¸àÎàK¹

(B) ¹à\à ¹à³ì³àÒ> ¹àÚ

(C) l¡üÒü[ºÚà³ ëA¡¹ã

(D) l¡üšì¹¹ ëA¡l¡üÒü >>
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119. According to Buddhism, one of the

‘Ashtang Marg’ is

(A) right food

(B) right dress

(C) right determination

(D) None of the above

120. Who wrote the book, Bodhadoy?

(A) Rabindranath Tagore

(B) Raja Rammohan Roy

(C) Iswar Chandra Vidyasagar

(D) None of them

121. The philosophical assumption of

Buddhism is

(A) Faith in Karma

(B) Faith in God

(C) Faith in Fate

(D) None of the above

122. Who published, Samachar Darpan?

(A) Iswar Chandra Vidyasagar

(B) Raja Rammohan Roy

(C) William Carey

(D) None of them



123. ‘Phi los o phy’ Å¦[i¡ ƒå[i¡ NøãA¡ Å¦ ‘philos’ 
&¤} ‘sophia’ [ƒìÚ ít¡¹ã ™àìƒ¹ "=¢ Òº

(A) Îå[ó¡ &¤} "à‹¸à[uA¡t¡à

(B) ®¡K¤à> &¤} "àuà

(C) ®¡àìºà¤àÎà &¤} `¡à>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

124. ëA¡à> Îàìº ‘A¡¸àºA¡ài¡à šà¤[ºA¡ ºàÒüì¤ø¹ã’
šø[t¡[Ë¡t¡ ÒìÚ[áº?

(A) 1826

(B) 1836

(C) 1831

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

125. [ÅÛ¡àìÛ¡ìy šøìÚàK¤àìƒ¹ "¤ƒà> Òº

(A) "àìºàW¡>à¹ ³à‹¸ì³ [ÅÛ¡à

(B) "¤ì¹àÒ-"àì¹àÒ š‡ý¡[t¡

(C) šøA¡¿ š‡ý¡[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

126. ®¡à¤¤àƒ #Å«ì¹¹ "[ÑzŒ Ñ¬ãA¡à¹ A¡ì¹, t¡à¹ ³àì>
Òº &[i¡ P¡¹ç¡Œ šøƒà> A¡ì¹

(A) ¤Ññ¤àƒ [¤A¡àìÅ

(B) "à‹¸à[uA¡t¡à [¤A¡àìÅ

(C) šà[=¢¤ Î}™å[v¡û¡ [¤A¡àìÅ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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123. The word ‘philosophy’ is made up of

two Greek words ‘philos’ and

‘sophia’ which mean

(A) Sufi and Spirituality

(B) God and Soul

(C) Love and Knowledge

(D) None of the above

124. In which year, ‘Calcutta Public

Library’ was established?

(A) 1826

(B) 1836

(C) 1831

(D) None of the above

125. The contribution of ‘pragmatism’ to

education is

(A) learning through discussion

(B) deductive-inductive method

(C) project method

(D) None of the above

126. Idealism accepts existence of God,

so it emphasis the development of

(A) materialism

(B) spiritualism

(C) worldly attachments

(D) None of the above



127. ëA¡à>ô [ÅÛ¡àƒÅ¢> [ÅÛ¡ìA¡¹ P¡¹ç¡Œ Ñ¬ãA¡à¹ A¡ì¹
>à?

(A) ³àG¢¤àƒ

(B) šøAõ¡[t¡¤àƒ

(C) ¤àÑz¤¤àƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

128. 1937 Îàìº ëA¡à>ô ³¸àKà[\ì> ³Òàuà KàÞê¡ã tò¡à¹
[ÅÛ¡à Î}yû¡à”z šø¤Þê¡P¡[º šøA¡àÅ A¡ì¹[áìº>?

(A) ëA¡Å¹ã

(B) Ò[¹\>

(C) ÒüÚ} Òü[r¡Úà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

129. ³¸àA¡ìº tò¡à¹ [¤J¸àt¡ [³[>i¡ ƒà[Jº A¡ì¹[áìº> ë™ 
Î³ìÚ t¡à Òº

(A) ëó¡¤øåÚà¹ã, 1933

(B) ëó¡¤øåÚà¹ã, 1935

(C) ëó¡¤øåÚà¹ã, 1936

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

130. Åøã "¹[¤–ƒ tò¡à¹ ë™àK ëA¡–ƒø[i¡ šø[t¡Ë¡à A¡ì¹[áìº>  
ëA¡à>ô \àÚKàÚ?

(A) ëKàÚà

(B) ˜¡[ÈìA¡Å

(C) š[“¡ìW¡¹ã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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127. Which educational philosophy does

not regard teachers’ importance?

(A) Marxism

(B) Naturalism

(C) Realism

(D) None of the above

128. In which magazine did Mahatma

Gandhi published his educational

Articles in 1937?

(A) Kesari

(B) Harijan

(C) Young India

(D) None of the above

129. Macaulay submitted his famous

minute on

(A) February, 1933

(B) February, 1935

(C) February, 1936

(D) None of the above

130. Shri Aurobindo established his yoga

centre at which place?

(A) Goa

(B) Rishikesh

(C) Pondicheri

(D) None of the above



131. ®¡à¹t¡ãÚ [ÅÛ¡àìÛ¡ìy ‘Nøà–i¡-Òü>-&Òül¡’ ¤¸¤Ñ‚à¹
">åì³àƒì>¹ šøÑzà¤ ëA¡ A¡ì¹[áìº>?

(A) l¡üìl¡¹ ël¡Îôš¸àW¡

(B) Òà–i¡à¹ A¡[³Å>

(C) Î¸àl¡ºà¹ A¡[³Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

132. \àt¡ãÚ [ÅÛ¡à>ã[t¡ (1986) Nøà³ão [ÅÛ¡à=¢ãìƒ¹
P¡oKt¡ [ÅÛ¡à¹ \>¸ [>³—[º[Jt¡ ëA¡à>ô ¤¸¤Ñ‚à[i¡
A¡ì¹[áìº>?

(A) ëÎ–i¡öàº ÑAå¡º

(B) >ì¤àƒÚ [¤ƒ¸àºÚ

(C) íÎ[>A¡ ÑAå¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

133. ®¡à¹t¡ãÚ Î}[¤‹àì>¹ 45 >} ‹à¹à ">åÎàì¹ ë™
¤ÚÎ š™¢”z [ÅÇ¡ìƒ¹ [¤>à³èìº¸ &¤} "à¤[Å¸A¡
[ÅÛ¡à¹ A¡=à ¤ºà ÒìÚìá t¡à Òº

(A) 6 ¤á¹

(B) 8 ¤á¹

(C) 14 ¤á¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

134. ‘[ÅÇ¡-ëA¡–ƒøãA¡ [ÅÛ¡à’ [>³—[º[Jt¡ ëA¡à>ô [ÅÛ¡à
ƒÅ¢ì>¹ "¤ƒà>?

(A) ®¡à¤¤àƒ

(B) šøAõ¡[t¡¤àƒ

(C) šøìÚàK¤àƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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131. Who proposed the sanction of

‘Grant-in-aid’ to the Indian

Educational Institution?

(A) Woods Despatch

(B) Hunter Commission

(C) Sadler Commission

(D) None of the above

132. National Education Policy (1986)

has made provision for which of the

following schools for quality

education for rural children?

(A) Central School

(B) Navodaya School

(C) Sainik School

(D) None of the above

133. In Article, 45 of Indian Constitution

directive is given for free and

compulsory education for children

up to which age?

(A) 6 years

(B) 8 years

(C) 14 years

(D) None of the above

134. ‘Child-centred education’ is the

contribution of which of the

following edcuational philosophies?

(A) Idealism

(B) Naturalism

(C) Pragmatism

(D) None of the above



135. &l¡à³Îô &¹ ³ìt¡, [ÅÛ¡à Òº ƒÅ¢ì>¹ [>³—[º[Jt¡ 
ëA¡à>ô ƒõ[Ê¡®¡[U?

(A) šøK[t¡Åãº

(B) t¡à[wA¡

(C) ¤¸¤Òà[¹A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

136. Î¤¢[ÅÛ¡à "[®¡™à> Ç¡¹ç¡ ÒìÚ[áº

(A) 1993 Îàìº

(B) 1994 Îàìº

(C) 2001 Îàìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

137. ®¡à¹t¡ãÚ Î}[¤‹àì> [ÅÛ¡àìA¡ [>³—[º[Jt¡ ëA¡à>ô
t¡à[ºA¡àÚ ¹àJà ÒìÚìá?

(A) ëA¡–ƒøãÚ t¡à[ºA¡àÚ

(B) ¹à\¸ t¡à[ºA¡àÚ

(C) ™åOµ t¡à[ºA¡àÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

138. ëÎÒü ƒÅ¢>[i¡¹ >à³ A¡ì¹à ë™[i¡ ëÅøoãA¡ìÛ¡ Îƒ¢à¹
šØl¡æÚà šø=à¹ Îõ[Ê¡ A¡ì¹[áº?

(A) í\>

(B) ÒüÎºà³

(C) í¤[ƒA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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135. According to Adams, edcuation is

which of the following aspects of

philosophy?

(A) Dynamic

(B) Theoretical

(C) Practical

(D) None of the above

136. Sarva Shiksha Abhiyan was started

in the year

(A) 1993

(B) 1994

(C) 2001

(D) None of the above

137. In the Constitution of India,

education has been accepted in

which of the following lists?

(A) Central list

(B) State list

(C) Concurrent list

(D) None of the above

138. Name the philosophy which

developed the monitorial system in

classroom.

(A) Jain

(B) Islamic

(C) Vedic

(D) None of the above



139. 1977–78 Îàìº ®¡à¹t¡ Î¹A¡à¹ šø[t¡¤Þê¡ãìƒ¹
\>¸ [>³—[º[Jt¡ ëA¡à>ô [ÅÛ¡à š[¹A¡¿>à W¡àºå
A¡ì¹[áº?

(A) ëºàA¡ \[´¬Î

(B) "àÅø³ [¤ƒ¸àºÚ ë™à\>à

(C) Î³[Þt¡ [ÅÛ¡à ë™à\>à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. ëÎÒü A¡ìº\[i¡¹ >à³ l¡üìÀJ A¡¹ ë™[i¡ ®¡à¹t¡¤ìÈ¢
šø=³ [l¡[Nø šøƒà> Ç¡¹ç¡ A¡ì¹[áº?

(A) ë¤=å> A¡ìº\

(B) Åøã¹à³šå¹ A¡ìº\

(C) [Ò–ƒå A¡ìº\

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

141. ëA¡àk¡à¹ã A¡[³Å> [ÅÛ¡à ëÛ¡ìy ë™ >tå¡> š¸ài¡à>¢[i¡¹ 
Îåšà[¹Å A¡ì¹> t¡à Òº

(A) 10+2+3

(B) 10+2+1

(C) 10+2+2

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

142. ëA¡à>ô Îàìº ®¡à¹t¡ãÚ [¤Å«[¤ƒ¸àºÚ A¡[³Å> Kk¡>
A¡¹à ÒìÚ[áº?

(A) 1901

(B) 1903

(C) 1909

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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139. In the year 1977–78, the Indian

Government had started which of

the following educational plans for

the handicapped?

(A) Lok Jumbish

(B) Ashram Vidyalaya Yojana

(C) Samanvit Shiksha Yojana

(D) None of the above

140. Name the college which first

provided degree in India.

(A) Bethune College

(B) Serampore College

(C) Hindu College

(D) None of the above

141. The new pattern that Kothari

Commission recommended for

education is

(A) 10+2+3

(B) 10+2+1

(C) 10+2+2

(D) None of the above

142. In which year, Indian University

Commission was established?

(A) 1901

(B) 1903

(C) 1909

(D) None of the above



143. ‘Î¤¢[ÅÛ¡à "[®¡™àì>¹’ ºÛ¡¸ Òº

(A) ÅÒì¹¹ šøà=[³A¡ [ÅÛ¡à

(B) Îà¤¢\>ã> šøà=[³A¡ [ÅÛ¡à

(C) l¡üš[Ñ‚[t¡¹ ¤õ[‡ý¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

144. [ÅÛ¡à [>³—[º[Jt¡ ëA¡à>ô ‹¹ì>¹ Îà³à[\A¡
K[t¡Åãºt¡àìA¡ šø®¡à[¤t¡ A¡ì¹?

(A) [>³—Kà³ã

(B) "à>å®è¡[³A¡

(C) $‹k¢Kà³ã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

145. í¤[ƒA¡ ¤¸¤Ñ‚àÚ ë™ [ÅÛ¡à=¢ã¹à 48 ¤á¹ ¤ÚÎ š™¢”z 
[ÅÛ¡à "\¢> A¡¹ìt¡à t¡àìƒ¹ ¤ºà Òìt¡à

(A) [‡\

(B) "î‡t¡

(C) š[“¡t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

146. "àƒÅ¢Wå¡¸[t¡ [ÒìÎ¤ A¡¹à¹ [®¡[v¡[i¡ [A¡?

(A) [³>

(B) ë³àl¡

(C) ë®¡[¹ìÚX

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

/18 37 [ P.T.O.

143. The aim of ‘Sarva Shiksha Abhiyan’

is

(A) primary education in city

(B) unviersal primary education

(C) increase in attendance

(D) None of the above

144. Education affects in which of the

following types of social mobility?

(A) Downward

(B) Horizontal

(C) Upward

(D) None of the above

145. In Vedic system, student acquiring

education up to the age of 48 was

called

(A) Dvija

(B) Advaita

(C) Pandit

(D) None of the above

146. What is the basis of computation of

standard deviation?

(A) Mean

(B) Mode

(C) Variance

(D) None of the above



147. &A¡[i¡ ³ày l¡ü„ãšìA¡¹ ‡à¹à ÎõÊ¡ šø[t¡[yû¡ÚàP¡[º¹
W¡[¹y¡ š[¹³àìš¹ š‡ý¡[t¡ Òº

(A) ÎÒK[t¡

(B) [³>

(C) &Î. [l.¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

148. &[i¡ Ñ¬à®¡à[¤A¡ Î´±à¤>à¹ [W¡ìy¹ ³t¡Òü &A¡[i¡
š[¹Î}J¸à> Î}yû¡à”z ³ìl¡º

(A) T-[l¡Î[i¡ö[¤l¡üÅà>

(B) Ð¡¸à“¡àl¢¡ &¹¹

(C) [³>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

149. "ìKàË¡ã¤‡ý¡ l¡üšàìv¡¹ ëÛ¡ìy [³> [>o¢ìÚ¹ Îèy[i¡
Òº

(A) M X N= S /

(B) M fx N= S /

(C) M AM N= /

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. ‘[¤Å«¤øÕ¡àr¡ &¤} #Å«¹’ &Òü ƒÅ¢ì>¹ ³èº ®¡à¤>à¹
[¤ÈÚ Òº

(A) ®¡à¤¤àƒ

(B) ¤àÑz¤¤àƒ

(C) šøAõ¡[t¡¤àƒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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147. The method of measuring many

characteristics of the reactions

occurring by only one stimulus is

(A) correlation

(B) mean

(C) SD

(D) None of the above

148. Like normal probability curve. it is

regarded as a statistical model

(A) T-distribution

(B) Standard error

(C) Mean

(D) None of the above

149. The formula for the mean in the

ungrouped data is

(A) M X N= S /

(B) M fx N= S /

(C) M AM N= /

(D) None of the above

150. The ‘Universe and God’ is central

thought of which of this philosophy?

(A) Idealism

(B) Realism

(C) Naturalism

(D) None of the above



SPACE FOR ROUGH WORK / ¹àó¡ A¡àì\¹ \>¸ \àÚKà¡
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Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú
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